SR P SNEES T L e IR

8| Hene f}f’; Gk mAGTEEARHE | B | 100 44
WS INEERBIEEENIES - H*2HEE | H

1. Draw the shear force (7) and bending moment (M) diagrams of the beam. (20%)
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2. Find (a) the maximum normal stress Omax, (b) the maximum shear stress Zmax in the beam. (20%)
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3. A beam is composed of two sections. In the figure, E is the modulus, and d is the diameter. Find the
displacement of the point B. (20%)
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4. A beam is subjeéted to a distributive load, as shown below. The beam has a T-shaped cross-section.
Find the (a) maximum tensile stress, (b) maximum compressive stress in the beam. (20%)
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5. A cantilever beam is fixed at point x=0. The beam is under a uniform distributive load g.
Find the deflection curve v(x) of the beam, expressed in terms of E, 1, L, ¢ and x. (20%)
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